UIL ACCOUNTING

Regional A-9673 (Spring 1997)
Group 1

Indicate whether each of the following accounts is debited or credited during the closing process or whether the account or item is not closed.  Write the correct answer on your answer sheet using the following code:

                      DR=debit   CR=credit  NC=not an item to be closed

1.  Donna Nails, Drawing                          9. Allowance for Uncollectible Accounts

2.  Purchases Discounts                         10. Depreciation Expense
3.  Merchandise Inventory                       11. Income Summary (net loss)
4.  Sales Returns & Allowances              12. Cost of Delivered Merchandise
5.  Rent Expense                                     13. Donna Nails, Capital
6.  Accumulated Depreciation—Equip.    14. Purchases
7.  Transportation In                                15. Prepaid Insurance
8.  Sales
Group 2

For each account listed, indicate the effect the debit or credit has on the account using the code:  INC=increase   DEC=decrease


ACCOUNT

DEBIT OR CREDIT
16.  Sales



credit

17.  Joe Socket, Drawing

debit
18.  Purchases Discounts

credit

19.  Transportation In

credit
20.  Cash



credit
21.  Sales Returns & Allowances
credit
22.  Accounts Payable

debit
23.  Joe Socket, Capital

credit
Group 3
	ASSET
	ORIGINAL COST
	ACCUMULATED DEPRECIATION THROUGH 

DEC 31, 1995
	ADDITIONAL DEPRECIATION IN 1996 TO DATE OF SALE

	 #1
	8,000
	6,200
	300

	 #2
	10,400
	5,920
	620

	 #3
	27,100
	17,280
	2,160


For questions 24 through 26, write the correct answer on your answer sheet using the following code:  Y=yes  N=no

24.  If asset #1 is sold for $1,500, will there be a gain on the sale of $300?

25.  If asset #2 is sold for $4,500, will there be a gain on the sale of $640?

26.  If asset #3 is sold for $7,000, will there be a loss on the sale of $660?

Accounting Regional A-9673     page 2

Group 4

King Hardware uses a fiscal year ending December 31.  On January 1, 1996 the store had a beginning inventory of packages of faucet washers that cost $1,800 (4,000 packages @ $.45 each).  During 1996 the business made the following purchases:

	
	
	
	
	

	January 20
	800
	pkgs @ .47 each
	=
	376.00

	March 15
	2000
	pkgs @ .45 each
	=
	900.00

	April 2
	2400
	pkgs @ .48 each
	=
	1152.00

	August 18
	1600
	pkgs @ .47 each
	=
	752.00

	October 1
	1000
	pkgs @ .50 each
	=
	500.00

	November 20
	4000
	pkgs @ .52 each
	=
	2080.00

	Total Purchased
	11800
	
	
	5760.00

	
	
	
	
	


Assume that the packages of faucet washers sold during the year were sold for $.90 each.  There were 3,450 packages of faucet washers in inventory at the end of the period.

Calculate the following amounts.  When using the weighted average method, round the cost per package to the nearest cent.  For questions 27 through 31, write the correct amount on your answer sheet.

	
	FIFO METHOD
	LIFO METHOD
	WEIGHTED AVERAGE COST METHOD

	Ending Inventory
	#27
	XXXXXXX
	XXXXXXX

	Cost of Merchandise Sold
	XXXXXXX
	#29
	XXXXXXX

	Gross Profit on Sales
	#28
	#30
	#31
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Group 5

Information related to The Sawblade Co. for 1996 is summarized below:

	
	

	Net Sales
	$1,800,000

	Accounts Receivable on 12-31-96
	$600,000

	Bad debts written off in 1996
	$26,000

	
	


For questions 32 through 35, write the correct amount on your answer sheet.  Each question is independent from the others unless noted otherwise.

32.  Assume that The Sawblade Co. uses the allowance method of accounting for uncollectible accounts.  The company estimates that uncollectible accounts will be 3% of net sales.  What amount of bad debts expense will The Sawblade Co. record if Allowance for Uncollectible Accounts has a credit balance of $3,000?

33.  Assume that The Sawblade Co. uses the allowance method of accounting for uncollectible accounts.  The company prepares an aging of accounts receivable on 12-31-96 and determines that 4% of its accounts receivable will be uncollectible.  What amount of bad debts expense will The Sawblade Co. record for 1996 if Allowance for Uncollectible Accounts has a credit balance of $4,000?

34.  Assume the same facts as in #33, except that there is a $2,000 debit balance in Allowance for Uncollectible Accounts.  What amount of bad debts expense will The Sawblade Co. record?

35.  What amount of bad debts expense will The Sawblade Co. report for 1996 if it uses the direct write-off method of accounting for bad debts?

Group 6

For questions 36 through 42, on your answer sheet write “True” if the statement is true; write “False” if the statement is false.

36. The LIFO method assumes that the first items purchased are the ones still remaining.

37.  The weighted average cost method is always the most accurate of the inventory costing  

methods.

38.  When the inventory is valued using the weighted average cost method, the value is usually

between the values determined by the LIFO and FIFO methods.

39. The FIFO method assumes that the items still in inventory were the last ones purchased.

40.  If a business uses a perpetual inventory system control, a periodic inventory is never   

     needed.

41.  The costing method used to determine the value of the ending inventory will affect the gross profit on sales.

42.  The market value of the merchandise on hand is always higher than the original cost.
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Group 7

The Mike Drillo Co. reported the following income statement data for a 2-year period.

	
	AS  REPORTED    


	AS  CORRECTED

	
	1995
	1996
	1995
	1996

	Sales
	$    210,000
	$    250,000
	
	

	Cost of Mdse Sold:
	
	
	
	

	Beginning Inventory
	32,000
	40,000
	
	

	Cost of Mdse Purchased
	173,000
	202,000
	
	

	Cost of Mdse Available for Sale
	205,000
	242,000
	
	

	Ending Inventory
	40,000
	52,000
	
	

	Cost of Merchandise Sold
	165,000
	190,000
	
	

	Gross Profit
	$      45,000
	$     60,000
	
	


The Mike Drillo Co. uses a periodic inventory system.  The inventories on January 1, 1995 and December 31, 1996 are correct.  However, the ending inventory on December 31, 1995 was overstated by $6,000.

For questions 43 through 46, write the correct answer on your answer sheet using the following code:  Y=yes  N=no.   (If it is helpful to prepare corrected income statements, a space is provided above.)

43.  Did the error cause the cost of merchandise available for sale in 1995 to be overstated?

44.  Did the error cause 1995 gross profit to be overstated?

45.  Did the error cause 1996 gross profit to be overstated?

46.  Did the error cause 1996 cost of merchandise available for sale to be understated?
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Group 8

The bookkeeper for Betty Pliers, Attorney, made a number of errors in journalizing and posting, as described below.  The bank reconciliation has not been prepared.  A cash proof has not been performed.

1.  A credit posting of $400 to Accounts Receivable was omitted.

2.  A debit posting of $750 for prepaid insurance was debited to Insurance Expense.

3.  A collection on account of $100 was journalized and posted as a debit to Cash $100 and a credit to Fees Earned $100.

4.  A credit posting of $300 to Accounts Payable was made twice.  (The debit portion was posted correctly.)

5.  A cash purchase of supplies for $250 was journalized and posted as a debit to Supplies $25 and a credit to Cash $25.

6.  A debit of $465 to Advertising Expense was posted as $456.  (The credit portion was posted correctly.

For questions 47 through 52, use these instructions and consider each error separately.  If the trial balance will balance, write “yes” on your answer sheet.  If the trial balance will not balance, write the correct amount of the difference on your answer sheet. 

47.  Error #1

49. Error #3

51. Error #5

48.  Error #2

50. Error #4

52. Error #6

Group 9

On June 30, Tommy Wrench, owner of Wrench Tool Co., received a bank statement dated June 28.  After he compared the company’s checkbook records with the bank statement, Tommy found the following:

1.  The bank statement shows a balance of $466.36.

2.  The statement shows a bank service charge of $10.

3.  A check from Al Timmons for $49.50 that was deposited in the Wrench Tool Co. account on June 27 was returned by the bank.

4.  A deposit of $849.25 was made on June 27 but does not appear on the bank statement.

5.  These checks do not appear on the bank statement:



Check 548 for $29.45
Check 550 for $88.70



Check 549 for $32.64
Check 552 for $102.40

For questions 53 and 54, write the correct amount on your answer sheet.

53.  What is the reconciled (adjusted) bank balance on June 30?

54.  What was the balance in the checkbook immediately before the bank reconciliation was prepared?
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Group 10

Complete the following chart as necessary.  Answer questions 55 through 61 by writing the correct identifying letter of the best answer on your answer sheet.

	Plant asset:  TRUCK

Original cost:  $20,000

Estimated Salvage value:  $2,000

Purchased on 1-1-96

Estimated Useful life:  5 years



	
	Straight-Line Method
	Declining-Balance Method

	YEAR
	Beg. Book Value
	Annual

Depr.
	Ending Book Value
	Beg. Book Value
	Annual Depr.
	Ending Book Value

	1996
	
	
	
	
	
	

	1997
	
	
	
	
	
	

	1998
	
	
	
	
	
	

	1999
	
	
	
	
	
	

	2000
	
	
	
	
	
	


55.  Using the straight-line method, the beginning book value on 1-1-96 is

A.  $18,000
B. $20,000

56.  Using the straight-line method, the annual depreciation amount is

A.  $2,000
B. $3,600
C. $4,000
D. $4,400

57.  Using the straight-line method, the ending book value for 1998 is

A.  $6,800     B. $7,200     C. $8,000     D. $9,200     E. $14,000

58.  Using the declining-balance method, the beginning book value on 1-1-96 is

A.  $18,000
B. $20,000

59.  Using the declining-balance method, the annual depreciation for 1997 is

A.  $2,880     B. $3,200     C. $3,600     D. $4,320     E. $4,800

60.  Using the declining-balance method, the ending book value on 12-31-99 is

A.  $2,332.80     B. $2,592     C. $5,600     D. $7,372.80     E. $8,192

61.  Using the declining-balance method, the annual depreciation for the year 2000 is

A.  $zero     B. $518.40     C. $592     D. $1,036.80     E. $2,592     F. $3,600
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Group 11

The Crescent Co. experienced a total loss due to a fire on December 29, 1996.  The off-site computer tape backup provided the following data for the month of November and for December through the 28th day.

	
	November 
	December through

 the 28th

	Net Sales
	840,000
	720,000

	Beginning Inventory
	56,500
	61,300

	Purchases
	562,000
	473,800

	Purchases Ret. & Allow.
	12,700
	10,900

	Purchases Discounts
	42,000
	36,200

	Transportation In
	18,300
	16,400

	Ending Inventory
	61,300
	                   ?


For questions 62 and 63, write the correct amount on your answer sheet.

62.  What is the gross profit rate for November?

63.  Using the gross profit rate for November, calculate the estimated ending inventory

      destroyed by fire.

Group 12

For questions 64 through 70 write the identifying letter of the best answer on your answer sheet.

64. Among the following accounts, the only non-plant asset is

A.  Supplies


C. Land

B.  Computer Equipment
D. Accumulated Depreciation—Office Equipment

65.  The cost of a plant asset is determined by the purchase price for the asset and all of 

 the following except

A.  sales taxes


C. estimated disposal value of the asset

B.  delivery charges

D. installation charges

66. Which of the following statements is incorrect concerning the adjusted trial balance?

A.  An adjusted trial balance proves the equality of the total debit balances and the total credit balances in the ledger after all adjustments are made.

B.  The adjusted trial balance provides the primary basis for the completion of the work sheet and thus the preparation of the financial statements.

C.  The adjusted trial balance lists the account balances segregated by account type but not necessarily in order according to the chart of accounts.

D.  The adjusted trial balance is prepared after the adjusting and closing entries have been journalized and posted.
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Group 12 continued

67. An analysis and aging of the accounts receivable of N. T. Hammer Company on 

      December 31 reveals the following data:



Accounts Receivable………………………………….  $800,000



Allowance for Uncollectible Accounts per the

 

   general ledger before adjustment………………….     50,000



Amount estimated to be uncollectible per the



   aging of Accounts Receivable………………………     65,000


The book value of the accounts receivable on December 31, after the adjustment is

A.  $685,000
B. $735,000

C. $750,000

D. $800,000

Use the following information to answer questions 68 through 70.  A computer was purchased on January 4 at a cost of $3,800.  The computer has an estimated disposal value of $200 and an estimated useful life of six years.

68. The estimated amount to be depreciated on this computer is

A.  $200

B. $600
C. $3,600
D. $3,800

69. The estimated annual depreciation expense is

A.  $200

B. $600
C. $633.33
D. $3,600

70. If the computer had been purchased on August 4 instead of in January, the 

 estimated depreciation expense for the partial year would be

A.  $200

B. $250
C. $600
D. $3,600

Group 13

For questions 71 through 80, refer to the partially completed work sheet on page 10.  You may remove the work sheet from the staple for convenience.  The work sheet will not be reviewed by the graders.  The amounts on the work sheet are correct.  However, the accountant has failed to fully complete the work sheet.  (The operating expenses are combined for simplicity.)  The B & S Driver Co. has been in business for ten years.  On your answer sheet write “True” if the statement is true; write “False” if the statement is false.

71.  The adjustment to record bad debts expense caused the book value of accounts receivable to increase by $1,900.

72.  The adjusting entry to record the actual amount of supplies used includes a credit to Supplies for $940.

73.  The adjusting entry to record expired insurance includes a debit to Insurance Expense of $1,800.

74.  The credit of $4,000 to Income Summary as an adjusting entry requires a debit of $4,000 to Merchandise Inventory in order for the entry to balance.
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Group 13 continued

75. The depreciation expense for the period is $8,000.

76.  The amount $1,240 in the debit column of the trial balance must represent the 


amount of supplies that were actually purchased during 1996.

77.  The cost of delivered merchandise is  $337,200.

78.  The amount of net purchases is  $307,800.

79.  The amount of gross profit is  $316,000.

80.  If the partners share profits and losses equally, each partner will be allocated $16,080 of net income.

This is the end of the exam.  Please hold your test and answer sheet until the contest director calls for them.  Thank you.

	B & S Driver Co.

	Work Sheet

	For the Year Ended December 31, 1996

	Account Title
	Trial Balance
	Adjustments
	Adjusted Trial Balance
	Income Statement
	Balance Sheet

	
	Debit
	Credit
	Debit
	Credit
	Debit
	Credit
	Debit
	Credit
	Debit
	Credit

	Cash
	9,500
	
	
	
	9,500
	
	
	
	
	

	Accounts Receivable
	16,100
	
	
	
	16,100
	
	
	
	
	

	Allow. for Uncollectible Accts
	
	1,500
	
	
	
	3,400
	
	
	
	

	Supplies
	1,240
	
	
	
	300
	
	
	
	
	

	Merchandise Inventory
	36,000
	
	
	
	40,000
	
	
	
	
	

	Prepaid Insurance
	3,800
	
	
	
	1,800
	
	
	
	
	

	Store Equipment
	80,000
	
	
	
	80,000
	
	
	
	
	

	Accum. Depr.—Store Equip.
	
	16,000
	
	
	
	24,000
	
	
	
	

	Accounts Payable
	
	20,400
	
	
	
	20,400
	
	
	
	

	Bonnie Driver, Capital
	
	41,370
	
	
	
	41,370
	
	
	
	

	Sally Driver, Capital
	
	41,370
	
	
	
	41,370
	
	
	
	

	Bonnie Driver, Drawing
	7,500
	
	
	
	7,500
	
	
	
	
	

	Sally Driver, Drawing
	7,500
	
	
	
	7,500
	
	
	
	
	

	Income Summary
	
	
	
	
	
	4,000
	
	
	
	

	Sales
	
	460,000
	
	
	
	460,000
	
	
	
	

	Purchases
	325,000
	
	
	
	325,000
	
	
	
	
	

	Purchases Ret. & Allow.
	
	10,400
	
	
	
	10,400
	
	
	
	

	Purchases Discounts
	
	6,800
	
	
	
	6,800
	
	
	
	

	Transportation In
	12,200
	
	
	
	12,200
	
	
	
	
	

	Operating Expenses 
	99,000
	
	
	
	99,000
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	Totals
	597,840
	597,840
	
	
	
	611,740
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	


